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(§FN5E9A20H~10826 HE)

[RF N KER 3 AR (RETHRYD)
EERKERFRAM (RF NI

ERREFRAEE (1 Sv/h)
HE NEE
No. TETH X5 NEELT )E]EI BES (R -4FfFDFH4{E) £
! 514

50cm 0.09 0.09

682 | FEtEHEM™ EFBNE |RENEHLE 10848
1m 0.08 0.09
50cm 0.08 0.09

683 mHEET #HEAE |fRAE 10A5H
1m 0.08 0.08
50cm 0.07 0.07

684 | FEIMEET™ HERAR |FELE 10A5H
1m 0.07 0.07
50cm 0.08 0.08

685 mHEET HEAR |HHFLE 10A5H
1m 0.08 0.08
R 50cm 0.09 0.09

686 mEET HERAR |LowUrE 10A4AR
1m 0.08 0.09
50cm 0.07 0.06

687 mEET #HERAR |/MIE 10A4AH
1m 0.06 0.06
X 50cm 0.08 0.09

688 mEET HEAR |&DIEE 10A3H
1m 0.08 0.08
) 50cm 0.07 0.07

689 mEET #HEAE |FHBERAE 10A3H
1m 0.07 0.07
) 50cm 0.07 0.07

690 | FIMEET™ #HXAE |FEPRAE 10A3H
1m 0.07 0.07
N 50cm 0.08 0.07

691 mEET #HRXAR |EHELE 10A3H
1m 0.08 0.08
i ) 50cm 0.07 0.07

692 mEET #HELAR |FEAELE 98298
1m 0.07 0.07
i 50cm 0.07 0.09

693 mEET #HEAR |THRAE 98298
1m 0.07 0.08
i 50cm 0.07 0.07

694 | FMEET #HELR |dLETNE 98 28H
1m 0.07 0.07
i 50cm 0.10 0.10

695 mHEET #HRAR |ER~E 10A6H
1m 0.10 0.10
i 50cm 0.07 0.08

696 mEET #HEARE |ERAE 9829R
1m 0.07 0.08
50cm 0.09 0.09

697 | mEET™ HEAE |[ERAthHRAER 10868
1m 0.09 0.09
50cm 0.08 0.08

698 mHEET #HXAE |ERE#tELR 10A6H
1m 0.08 0.09
50cm 0.08 0.09

699 EHEET #HRXAR |EREA#ERAE 10A6H
1m 0.08 0.09
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[RF N KER 3 AR (RETHRYD)
EERKERFRAM (RF NI

EREREFRAEME (1 Sv/h)
HE N
No. TETH X5 NEELT )E]El BIESS (PR-4BDFIE) e
! 514
50cm 0.06 0.07
700 | FEFEET #HEAR |HOHLR 108118
1m 0.06 0.06
50cm 0.08 0.08
701 mHEET #HEAE |AE252H 98281
1m 0.08 0.08
50cm 0.09 0.10
702 mHEET #HELAR |dLETEAR 98 28H
1m 0.09 0.09
i 50cm 0.09 0.10
703 mEET HERAR |ERATEAR 10A4AH
1m 0.09 0.10
i 50cm 0.07 0.07
704 | FEFEET #HELR |Yv/EIAE 98268
1m 0.07 0.07
i _ 50cm 0.06 0.05
705 mEET #HELAR |BEPHELR 9826H
1m 0.06 0.06
i 50cm 0.06 0.07
706 mHEET #HELR |B/AXE 98268
1m 0.06 0.06
50cm 0.16 0.17
707 mHEET #HEAR |BrE 108118
1m 0.16 0.16
i 50cm 0.13 0.13
708 mEET #HEAE |AE152EH 98 28H
1m 0.12 0.13
50cm 0.25 0.26
709 mEET b/ N ET I P /N 10A5H
1m 0.25 0.25
50cm 0.08 0.09
710 | FEtEET EBARE |[ROKFLE 10A3H
1m 0.08 0.09
50cm 0.13 0.12
711 mHEET EBAR |KENWIOOABEAE | 98298
1m 0.13 0.12
X 50cm 0.07 0.08
712 mHEET EEAR O OANE 108118
1m 0.07 0.07
50cm 0.21 0.24
713 | mEEW WEHARE |HAINKEKDARE 9H298
1m 0.21 0.22
N 50cm 0.17 0.18
714 | FEAEET EBAR |FENTTYSKINAE | 1048
1m 0.17 0.18
50cm 0.08 0.08
715 | FEtEET EHRAR |BTELAE 9H268
1m 0.08 0.08
50cm 0.08 0.08 X
716 | FEtEET BELE |ItREBERELAE 9H288 b AIELRS
1m 0.08 0.07
50cm 0.14 0.14
717 mEET BRAR |(HATELE 10118
1m 0.13 0.13
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[RF N KER 3 AR (RETHRYD)
EERKERFRAM (RF NI

EREREFRAEME (1 Sv/h)
HE N
No. GriEs) X5 NEELT )E]El BlESE (R 48D FH4{E) e
! 514
50cm 0.09 0.09
718 mEEm 2 e 4 3 4 R 2 3 10858
1m 0.09 0.09
50cm 0.10 0.12
CHEIRG
1m 0.10 0.11
50cm 0.11 0.12
719 mEET Iy c %/ NE T LA r/NE| 10A6H BAIZ ARG
1m 0.11 0.12
50cm 0.10 0.1
Az LG
1m 0.10 0.11
i 50cm 0.11 0.12
720 | FMEET #HXAE |BEGAE 108128
1m 0.11 0.11
50cm 0.10 0.10
721 JRITHET 2 EE 108128
1m 0.10 0.10
50cm 0.12 0.13
722 JRITHET WXAE |FHESNHLIES 108108
1m 0.12 0.12
. ) 50cm 0.20 0.20
723 JRITHT HWENE |BREUSIUR 108108
1m 0.20 0.19
N a3 50cm 0.09 0.10
724 | RSTET EHLE gﬁf’(“t/g BHZE| 10g128
BE 1m 0.09 0.10
. . 50cm 0.09 0.09
725 JRITHET O |BEEFEIIIUR 108128
1m 0.09 0.09
50cm 0.22 0.23
Iy =N
1m 0.21 0.23
726 SRITHET EEoR |(mEEHLE 10810 m———f———
50cm 0.20 0.28
nEEE LS
1m 0.20 0.28
50cm 0.38 0.40
727 JRITHET Fof  |[LILOF bEdE 108108
1m 0.38 0.40
50cm 0.12 0.12
728 JRITHET HBELE |hRAE 10A 108
1m 0.12 0.12
50cm 0.28 _
729 JRITHET e I B WAN/N | 108128 F14REITFAERRS
1m 0.28
50cm 0.07 0.08
730 Frith BT HBELER |FHETREAE 98268
1m 0.07 0.07
) 50cm 0.06 0.06
731 i ET BERZM | SERRS KR AR 10A 118
1m 0.06 0.06
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